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01. (a) Fill in the blank with preposition: Poverty is a hindrance our development.

AN to
(b) Transform the following sentences as directed:
Walking is the best exercise for the old (comparative),

s Walking is better than any other exercise for the old.
(c) Use the right form of verb: I have never (regret) my penny dreadful period.[Ans: regretted]
(d) Substitute the following for a single word: Murderer of one’s own mother.[Ans: Matricide]
(e) Correct the following sentence: Napoleon was defeated in the war of Waterloo.
F=ty: Napoleon was defeated in the battle of Waterloo.
02. (a) Change the speech of the following sentence : My uncle said, “Congratulations!”
F: My uncle congratulated me.
(b) Re-arrange the words to make sensible sentence:
Self-satisfaction, true, consists, happiness, in.
F=4i=: True happiness consists in self-satisfaction.
(c) Turn into indirect speech: Ahmad said to me, “What time is it? My watch has stopped.”
AA: Ahmad asked me what time it was. He also added that his watch had stopped.
(d) Change the voice : Your conduct has surprised me.
F3r4r=: 1 have been surprised at your conduct.
(e) Translate into English: 4te &R 7t#Z 7% @ 3% 29 OF 5T SSH7 |
F=141=: There 1s no doubt that reading book is an excellent habit.
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01. Fied IR FRCAIRG w2 [Ans: b]
(a) TG (A6 @ feE (b) STt It @ RSt
(c) AfSET @ P (d) TFo

02. FfEeri @R WIghe [t [Ans: c]
() ARG (b) T2l (c) AT (d) TR

03. WpfeT GEFEIREE MeAFA0I Gy (P TIRIT T4 LA [Ans: a]
(a) NH, (b) NH,Cl (c) CO, (d) NH,OH

04. 1.0M H,SO, &ret Beifie 20gIter ST (NG J03- [Ans: b]
(a) 1.0 M (b) 2.0 M (c) 3.0 M (d) 4.0 M
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05. e siffw pH it =t=-

(2) 6.65—6.38 (b) 6.6—6.9 (c) 4.8—7.5 (d) 2.0-1.6

06. TINEAMCZIRT THE SR TR F(a- [Ans: a]
(a) TG (b) SIGIFNIZE ORSELIEY (d) =micE=t

07. =% wgues 497 [Ans: a]
(a) As,0, (b) MnO, (c) Al,O, (d) Ni

08. ciCs-temifs fofeemy M @t Tvze 2 [Ans: d]
(a) @ (b) Fa= (c) fRfem (d) e

09. H,C-CH=CH-CH, (Butene—2) @it (FI7 4= Il e Fa? [Ans: c]
(a) STl St (b) =t it (c) eGP sTtet (d) sgiw st

10.* L -gr=ier OH -3&< AT 2AMT- ' [Amns: c]
(a) 1.2 I (b) 2.5 == (c) 3.5 (d) 1.6 3=

11. DNA 93 JAMIE ZF- [Ans: a]
(a) FAefFstize (b) FefFsizs (c) efge ufte (d) I=EIE =t

12. @M 7=fers S 8¢ P «a Tifas Rosse = =y [Ans: a]
(a) ottt (b) & (c) 7= (d) e

13. A= «inieT CFC @3 =rsaat st avw? [Ans: d]
(a) 16% (b) 6% (c) 13% | (d) 14%

’ 14. Sl uffe 8 SiF FId e+ S Zrel- [Ans: a]

(a) 5732 KJ (b) 58.03 KI (c) 55.2KJ (d) 50.4 KJ

15. YRGS I SRR Q@oF 157 F0A- [Ans: a]
(a) FET ATPPTR (b)sgeT (PR (o) R yfemrag (d) e

01. Dry cleaning is the process clothes are cleaned in liquids other than water. [Ans: c]
(a) by (b) which through (c) by which (d) through

02. The synonym of ‘subterfuge’ 1s— [Ans: a]
(a) deception (b) smartness (c) very clever (d) frank

03. The professor was pleased with of the student. [Ans: c]
(a) progress remarkable (b) remarkable progress
(c) the remarkable progress (d) the progress remarkable

04. Which one spelling 1s correct? [Ans: c]
(a) Archacologist (b) Archalogist (c) Archaeologist (d) Archilogist

05. Who is the author of the story ‘Jerry’? [Ans: a]
(a) Keats (b) Shakespeare

(d) Somerset Maugham

(c) Byron
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